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int i=1;i<=n;i++

falil=1i;
mil=1;
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x=find(x),y=find(y);
X::y

mixi>mly
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std::swap(x,y

miyl+=m[x];
falx|=y;
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#include<cstdio>
#include<algorithm>
using namespace std;
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int n,m,fa ,h ;
int Find(int x

x==Ffa[x|?x: (falx|=Find(falx c
void Merge(int x,int y
x=Find(x); y=Find(y);
X::y ;
hi{x]>h[y swap(x,y);
hiy!+=h[x];
falx|=y;
int main
scanf ("%d%d",&n,&m)&&n
int i=1;i<=n;i++

falil=1i;
h[i]=1;

int i=1,a,b;i<=m;i++

scanf("%d%d",&a,&b) ;
Merge(a,b);

int ans=-1;
int i=1;i<=n;i++
falil==i
ans++,
printf("%sd\n",ans);

poj 2492 A Bug's Life

p0j2492
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#include<cstdio>
#include<algorithm>
using namespace std;
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int t,n,intr,fal2005][2],m[2005
int Find(int x

.
’

fa[x][0]==x X;
int f=Find(fa[x1[0]);
falx][1ll=!(falx][1]~falfalx][0O 1
fa[x][0]=f;

.
’

int Merge(int x,int y

int fx=Find(x),fy=Find(y);
fx==fy

fa[x][1]==faly][1
0;
1;

m[fx|>m|fy swap(fx,fy),swap(x,y);
m[fy|+=m[fx];

fa[fx] [0]=fy;
fa[fx][1l]=!(fa[x][1]~(!faly]l[l ;
1;
int main

scanf("%sd",&t) ;
int T=1;T<=t;T++

scanf ("%d%d",&n,&intr) ;
int i=1;i<=n;i++

int v=1;
int i=1,a,b;i<=intr;i++

scanf("%d%d",&a,&b) ;
v&=Merge(a,b);

T>1) printf("\n\n");
printf("Scenario #%d:\n",T);
v) printf("No suspicious bugs found!");
printf("Suspicious bugs found!");

0;
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#include<cstdio>

#include<algorithm>

using namespace std;

int n,k,d,x,y,ans=0,fa ,m ;
int Find(int x

falx ==X X;
int f=Find(falx ;
falx =(fal[x +falfalx
falx =f;

o°
(U]

int Merge(int d,int x,int y

x>n||y>n]| | (d&&x==y ;
int fx=Find(x),fy=Find(y);
fx==fy

falx +d+3)%3==faly ;

’

m[fx|>m[fy!) swap(fx,fy),swap(x,y),d=-d;
m fyl+=m[fx];

falfx =fy;
falfx =(faly -d-falx +3)%3;
int main

scanf ("%d%d",&n,&Kk) ;
int i=1;i<=n;i++

falil =iz
fali =0;
miil=1;

int i=1;i<=k;i++

scanf("%d%sd%d",&d,&x,&y) ;
ans+=Merge(d-1,x,y);

printf("%sd",ans);
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